Hong Kong School of Commerce

Financial Accounting


Chapter 11 HKAS 38 Intangible Assets

(I)
Multiple Choice Questions

1.
Which of the following statements about research and development expenditure are correct according to HKAS 38 Intangible Assets?

(1)
If certain conditions are met, an enterprise may decide to capitalise development expenditure.

(2)
Research expenditure, other than capital expenditure on research facilities, must be written off as incurred.

(3)
Capitalised development expenditure must be amortised over a period not exceeding 5 years.

(4)
Capitalised development expenditure must be disclosed in the statement of financial position under intangible non-current assets.

A
1, 2 and 4 only

B
1 and 3 only

C
2 and 4 only

D
3 and 4 only



(ACCA 1.1H Preparing Financial Statements June 2003)

2.
Which of the following statements concerning the accounting treatment of research and development expenditure are true, according to HKAS 38 “Intangible Assets”?

(1)
If certain criteria are met, research expenditure may be recognized as an asset.

(2)
Research expenditure, other than capital expenditure on research facilities, should be recognized as an expense as incurred.

(3)
In deciding whether development expenditure qualifies to be recognized as an asset, it is necessary to consider whether there will be adequate finance available to complete the project.

(4)
Development expenditure recognized as an asset must be amortized over a period not exceeding five years.

(5)
The financial statements should disclose the total amount of research and development expenditure recognized as an expense during the period.

A
1, 4 and 5

B
2, 4 and 5

C
2, 3 and 4

D
2, 3 and 5

3.
Which of the following statements is false?

A
Goodwill must be reviewed for impairment annually.

B
The straight line method should normally be used to amortise goodwill.

C
The useful economic life of goodwill should be revised if appropriate.

D
The useful life of goodwill should not normally exceed 20 years.

4.
Which of these factors determines whether an intangible asset can be separately recognised in the financial statements?

A
it has been purchased as part of the acquisition of a business

B
its value can be measured reliably

C
its useful economic life is certain

D
it is not internally generated

5.
Which of these statements are correct, according to HKAS 38 “Intangible Assets”?

1
Negative goodwill should be immediately credited against reserves

2
HKAS 38 allows goodwill to be written off immediately against reserves as an alternative to capitalization and amortization.

3
As a business grows, internally generated goodwill may be revalued upwards to reflect that growth.

4
Internally developed brands must not be capitalized.

A
1 and 4

B
2 and 3

C
3 and 4

D
1 and 2

6.
Which of the following accounting policies would contravene Hong Kong Accounting Standards if adopted by a company?

1
Goodwill on acquisitions is written off immediately against reserves.

2
Land on which the company’s buildings stand is not depreciated.

3
Internally generated brands are capitalized at fair value as advised by independent consultants.

4
In calculating depreciation, the estimated useful life of an asset is taken as half the actual estimated useful life as a measure of prudence.

A
1, 3 and 4

B
2 and 4 only

C
1 and 3 only

D
All four are unacceptable.

7.
Which one or more of the following statements about HKAS 38 are correct?

1
Research expenditure, other than capital expenditure on buildings and equipment for research purposes, must be written off as incurred.

2
All companies must disclose in their financial statements the total amount spent on research and development and recognised as an expense during the period.

3
If development expenditure is capitalized, it must be amortised over a period not exceeding five years.

A
1 only

B
1 and 2

C
2 and 3

D
1 and 3

8.
A company’s statement of financial position includes the following items under the heading of intangible assets.

	
	$m
	$m

	1
Development costs
	
	4

	2
Trade marks at cost less amortization
	
	2

	3
Purchased goodwill (cost $3 million)
	2
	

	4
Internally developed goodwill at valuation
	3
	

	
	5
	

	5
Negative goodwill
	(2)
	3


A
1, 2 and 5

B
1, 2 and 3

C
3 and 4

D
4 only

9.
Negative goodwill might be recognised in the income statement:

A
By a company making heavy losses

B
By a company whose goodwill is eliminated by a major adverse event

C
By a company acquiring another company at a price below the fair value of that company’s net assets

D
In none of these circumstances

(II)
Examination Style Questions
1.
Accounting for intangible assets has been a contentious issue for several years and HKAS 38 “Intangible assets” attempts to eliminate the problems associated with accounting for such assets.

Required:
(a)
Describe the requirements of HKAS 38 regarding the initial recognition and measurement of intangible assets.

(b)
Explain the approach set out in HKAS 38 for the amortization of intangible assets.

2.
(a)
Discuss the criteria which HKAS 38 states should be used when considering whether research and development expenditure should be written off in an accounting period or carried forward.

(b)
Discuss to what extent these criteria are consistent with the fundamental accounting assumptions within HKAS 1.

3.
Sample Limited is a cosmetic manufacturing company. The Company incurred expenditure on many research and development activities for the years ended 30 September 1999 to improve the quality of product or to invent new products for sales.

	Project A:
	To research the recovery rate of skin on women at different ages.

	Project B:
	To develop new perfume. Sufficient progress has been made to find that the new perfume would be accepted by customers comparable to that of existing products.

	Project C:
	To carry out research of sensitivity of face on a particular cosmetic product as requested by a women organisation. The organisation. The organisation promised to reimburse all the costs incurred at a maximum contribution of HK$200,000.

	Project D:
	To study the improvement in a manufacturing process of an existing product in order to increase output and reduce wastage of this product. Sufficient progress has been made for the improvement so that the wastage will be reduced by 5%. Therefore the Company is going to apply the result derived to the manufacturing process of the existing product.


Costs incurred during the year ended 30 September 1999 were:

	Project
	A
	B
	C
	D

	
	HK$
	HK$
	HK$
	HK$

	Materials & wages
	230,000
	400,000
	180,000
	200,000

	Salary of R&D director (charged with time spent on each project)
	20,000
	30,000
	24,000
	20,000

	Depreciation on plant and machinery used specially for each project
	40,000
	50,000
	6,000
	14,000

	
	290,000
	480,000
	210,000
	234,000


Required:

(a)
State the accounting treatment of research costs in accordance with HKAS 38.



(2 marks)

(b)
State the accounting treatment of development costs in accordance with HKAS 38 including the accounting treatment of amortisation of development costs.


(5 marks)

(c)
State the criteria for recognition of development costs of a project as an asset in accordance with HKAS 38.
(6 marks)

(d)
Discuss the accounting treatment for each of the above projects in accordance with HKAS 38 and show the amount to be capitalised should you consider that the project should be recognised as an asset.
(12 marks)



(Total 25 marks)



(Adapted HKAAT Paper 7 Financial Accounting II Dec 2000 Q1)

4.
(a)
Goodwill may be defined as the difference, positive or negative, between the value of a business as a whole and the aggregate of the fair value of its separable net assets.

Required:

(i)
Explain the recommended accounting treatments of positive goodwill under HKAS 38.
(4 marks)

(ii)
Explain “negative goodwill” and the related accounting treatment under HKFRS 3.
(6 marks)

(b)
H Limited acquires a 60% interest in A Limited. The purchase consideration is $8,000,000. An extract of the statement of financial position of A Limited stated at fair values on the date of acquisition is as follows:

	
	
	

	
	$’000
	$’000

	Non-current assets
	
	

	Plant and equipment
	
	3,000

	Current assets
	
	

	Inventories
	10,000
	

	Cash
	5,000
	

	
	
	15,000

	Current liabilities
	
	

	Trade payable
	
	9,600

	Net current assets
	
	5,400

	
	
	

	NET ASSETS
	
	8,400

	
	
	

	CAPITAL AND RESERVES
	
	

	Issued capital
	
	5,000

	Accumulated profits
	
	3,400

	
	
	8,400


Required:

Calculate the value of purchased goodwill for H Limited. Show your workings.



(2 marks)



(Total 12 marks)



(Amended HKAAT Paper 7 Financial Accounting II Dec 2000 Q4(b)(c))

5.
Skincare Limited, which is a research centre for cosmetics and perfumes, has a number of customers that are cosmetic and perfume manufacturers. The company incurred expenditure on various research and development projects for the year ended 30 September 2005:

	
	Project W100
	Project X200
	Project Y300
	Project Z400

	
	$
	$
	$
	$

	Materials
	208,000
	192,000
	160,000
	144,000

	Wages
	160,000
	448,000
	128,000
	176,000

	Salary of director of research department
	32,000
	48,000
	38,400
	32,000

	Depreciation
	48,000
	56,000
	6,400
	16,000

	Public utilities and cleaning expenses
	16,000
	24,000
	3,200
	6,400

	
	464,000
	768,000
	336,000
	374,400


Note (A): Salary of director of research department is allocated based on the time spent on each project.

Notes (B): The related plant and machinery is designed for the specific research and development project.

The purpose of the above projects are as follows:

(1)
Project W100:

This is a project aimed at finding new types of herbs to use in the skincare process.

(2)
Project X200:

This is a project studying a new device to be added to the manufacturing process for perfume in order to reduce the wastage and pollution emissions of the existing manufacturing process by 10%. Progress in this project is satisfactory and the response by perfume manufacturers during a recent demonstration was encouraging. Moreover, management of Skincare Limited considers that the company has sufficient technical resources to produce and market this new device. Therefore the company is going to sell the new device to perfume manufacturers in the coming accounting year.

(3)
Project Y300:

This is a project, which is outsourced by Beauty Limited, a cosmetic manufacturer, to research the recovery rate of skin at different ages using several specific beauty products. The contract between Skincare Limited and Beauty Limited for this project amounts to $300,000.

(4)
Project Z400:

This is a project for developing a new line of beauty products. Information obtained from market research finds that the new perfume will be accepted by customers. However, the budget for the production of this new line of beauty products has not yet been approved by the board of directors because the competition for this type of product is so keen that the profit margin may not be able to cover the related distribution and administrative expenses.

It is the accounting policy of Skincare Limited to group the research and development expenses written off under the heading of “other expenses”.

Required:

(a)
HKAS 38 “Intangible Assets” defines an intangible asset as “an identifiable non-monetary asset without physical substance”. Explain the following characteristics of an intangible asset:

(i)
identifiable;

(ii)
control; and

(iii)
future economic benefits.
(6 marks)

(b)
Provide two examples of research activities and explain the accounting treatment of research costs in accordance with HKAS 38 “Intangible Assets”.



(3 marks)

(c)
State the criteria for capitalizing costs of a development project in accordance with HKAS 38 “Intangible Assets”.
(6 marks)

(d)
Prepare the extracts from the income statement and statement of financial position for the year ended 30 September 2005 and discuss the accounting treatment, in accordance with HKAS 38 “Intangible Assets”, for each of the above projects. Show all workings.



(3.5 marks for the extracts of financial statements and 6.5 marks for the discussion, total 10 marks)



(Total 25 marks)



(HKIAAT Paper 7 Advanced Accounting June 2006 Q.C4)

6.
Research Limited, a listed company which specializes in pharmaceutical drug research and development, has a financial year end of 30 June. The company owns a patent for a drug that has a remaining life of 10 years at the start of 1 July 2005. The registration of the patent was carried out and completed on 1 July 2005. The total fee for the registration of a legal right for the patent is $1 million which is composed of the registration fee of $0.7 million and the related legal fees of $0.3 million. A leading firm of specialist patent valuers has estimated the fair value of this patent to be $30 million at 1 July 2005 and the values given by Research Limited can be taken as being reliable measurements. There was no impairment to the patent for the year ended 30 June 2006.

The patent was acquired for the purpose of completing a research and development project. Up to 30 June 2006, costs incurred for the formulation, design, evaluation and final selection of possible alternatives for drugs were $3 million. The costs incurred for the design, construction and testing of pre-production for a chosen new product were $36 million up to 30 June 2006. These $36 million was composed of materials and services used or consumed of $20 million and the staff costs of $16 million in the development project. Research Limited capitalized $32 million of the development expenditure incurred. Research Limited is now awaiting the outcome of testing on human beings before putting this drug into production and starting its marketing plan. If the tests are successful, it is expected that the economic benefits from the drug will be estimated to be $32 million.

Required:

(a)
Provide the definition of an “intangible asset” and explain its three distinct characteristics of identifiability, control and future economic benefits.
(5 marks)

(b)
Explain the recognition and measurement of the following items in the financial statements of Research Limited for the year ended 30 June 2006:

(i)
the patent;
(6 marks)

(ii)
the research expenditure; and
(5 marks)

(iii)
the development expenditure.
(9 marks)

(Your answers should be in line with the requirements of HKAS 38 “Intangible Assets”.)



(Total 25 marks)



(HKIAAT Paper 7 Advanced Accounting December 2006 Q.C1)
7.
Blue Limited, a public listed company, has been considering the accounting treatment of its intangible assets. The director of Blue Limited has asked your opinion on how the matters below, according to HKAS 38 “Intangible Assets”, should be treated in its financial statements for the year to 30 June 2007.

(1)
Development of a new drug:

By February 2007, Blue Limited had developed and patented a new drug which has been approved for clinical use. The costs of developing the drug were $10 million and sales of the new drug have started in March 2007. Based on assessment of its market demand and sales success in some targeted markets, a reputable valuer, Brand & Associates, has estimated its market value at $16 million.

(2)
Staff training costs:

During the year ended 30 June 2007, Blue Limited has spent $3 million, sending its staff on specialist training courses. Whiles these courses have been expensive, they have led to a marked improvement in production quality and the staff now need less supervision. This in turn has led to an increase in revenue and cost reductions. The directors of Blue Limited believe these benefits will continue for at least three years and wish to treat the training costs as an asset.

Required:

According to the requirements of HKAS 38 “Intangible Assets”, explain how the directors of Blue Limited should recognize and measure the following items in the financial statements for the year to 30 June 2007.

(a)
Development of a new drug; and
(15 marks)

(b)
Staff training costs.
(10 marks)



(Total 25 marks)



(HKIAAT Paper 7 Advanced Accounting December 2007 Q.C4)

8.
Scientific Limited, a listed company which engaged in pharmaceutical drug research and development, has a financial year end for the year to 31 December. On 1 January 2004, the company acquired a patent for a certain special device and it was estimated that the patent had a remaining economic life of nine years at the start of 1 January 2004. The patent was acquired for the purpose of completing a project for developing a new product and the project had started on 1 January 2003.
	
	
	$

	Purchase price
	
	6,000,000

	Fees paid to Intellectual Property Department
	
	2,000

	Assignment and other related legal fees
	
	100,000

	
	
	6,102,000


The following information is also relevant:

(1)
By the end of year to 31 December 2007, Scientific Limited obtained the outcome of testing the new product on human beings and the outcome is favourable.

(2)
It is the policy of Scientific Limited that an intangible asset to be carried at a valued amount and to amortise all its intangible assets on a straight-line basis based on the estimated economic life.
(3)
At 1 January 2005, a leading firm of specialist patent valuer had estimated that the patent should be revalued upward by $2,500,000.

(4)
At 31 December 2007, an impairment test had been carried out by the company and it was estimated that the patent would be impaired by $500,000.

Required:

(a)
Paragraph 18 of HKAS 38 “Intangible Assets” states that “the recognition of an item as an intangible asset requires an entity to demonstrate that the item meets the definition of an intangible asset and the recognition criteria”. State the definition of an “intangible asset” and the recognition criteria of an intangible asset.
(5 marks)

(b)
Calculate the amount to be included in the items of “patent” that would appear in the statement of financial position of Scientific Limited as at 31 December 2007. Provide explanations for your calculations.
(Allocation of marks: 6 marks for computation of the amount and 14 marks for explanations for the calculations)
(20 marks)

(Your answer should be in line with the requirements of HKAS 38 “Intangible Assets” and HKAS 36 “Impairment of Assets”.)

(Total 25 marks)

(HKIAAT Paper 7 Advanced Accounting June 2008 C1)

9.
Lee Technology Company assembles and sells computers. In order to increase profitability, Lee Technology has decided to create and sell software to accompany the computers that it already manufactures. The management of Lee Technology have decided to establish a new department to design and test this software before attempting to sell it to the public. The following expenditure was made to establish this new department: $500,000 on new computer equipment for the designers, $250,000 for special and unique software purchased to assist in creating the new Lee Technology software; and an ongoing $50,000 per month to the employees who design the new software. The intention of Lee Technology is to finalise and begin marketing their new software within one year. With respect to the “special and unique” software, Lee Technology is unsure whether or not it could sell the software to another party when the project is completed.
(a)
How should these development costs be accounted for by Lee Technology Company if the computers could also be used for other purposes? Provide explanations for your answer.


(7 marks)

(b)
How should these development costs be accounted for by Lee Technology Company if the computers were customised for Lee Technology and are not suitable for any other purpose? Provide explanations for your answer.
(7 marks)

(c)
After four years, the software has been so successful that a much larger software company has offered to buy the Lee Technology’s software department for $10 million. At that time, the fair market value of the assets in the software department is only $9 million. What does the difference in the offering price and the asset fair market value represent? How should this difference be accounted for by the purchasing company? How should the difference be accounted for by Lee Technology Company? Is this difference the only possible source of profit on the proposed sale of the software department?
(6 marks)



(Total 20 marks)



(HKAAT PBE Paper I Financial Reporting Pilot Paper 2002 Q6)

10.
An enterprise is developing a new product. Cost incurred by the R&D department in 2000 on the “research phase” amounted to $1,600,000. In 2001, technical and commercial feasibility of the product was established. Costs incurred in 2001 were $160,000 personnel costs and $120,000 legal fees  to register the patent. In 2002, the enterprise incurred $240,000 to successfully defend a legal suit to protect the patent.

Required:

Discuss how the above costs should be dealt with in the enterprise’s financial statements.

11.
Garment Trend HK Limited (GTHK) is a newly set up company which bought a franchise from Garment Italy SpA during the year 2002 at a consideration of US$2 million. Having such franchising rights, GTHK has the right to sell all the garments in Hong Kong bearing the brand name of “Garment Italy” for a period of 5 years up to year 2007. Garment Italy SpA is a very successful garment company. Its brand name products have annual sales of over US$1 billion worldwide. Amy Wong is the financial controller of GTHK. During the closing of the financial statements of GTHK in 2002, Amy Wong charged the entire amount of the above franchising fee of US$2 million to the income statement.

Required:
Discuss and provide Amy Wong with an explanation of the proper accounting treatment for the above franchising fee.
(15 marks)



(Adapted HKSA QP Financial Reporting October 2002 Q. B2)

12.
The financial director of Song Co has asked for your help in determining which of the expenditure of the company can be capitalized in the financial statements for the year ended 31 December 2003. (He believes you are more knowledgeable about the latest standards than he is). He provides you with the following information and asks for a written reply.

(i)
Which assets can be capitalized and why?

(ii)
What should the capitalized cost be?

(iii)
What should the estimated useful life be?

(iv)
What will believe the residual value be if there is one?

(v)
What method of depreciation/amortization should be applied and what would be the charge per annum?

The following information is available.

Motor vehicle

A car purchased on 5 January 2003 for the financial director is a SAAB 9.5 costing $45,000. The financial director is allowed to replace his car every three years. A secondhand market exists for these cars, with approximate values being $33,000 after one year, $25,000 after two years and $20,000 after three years.

Training

Song has a new policy of encouraging training wherever possible to improve the quality of its staff, and hence its perceived position in the market and ultimately its profitability.

During the year ended 31 December 2003, Song spent $120,000 on training. Of this $15,000 was to improve the administration department’s computer skills and telephone manners. It is hoped that customers will be impressed with the first impression of Song with regard to help on the telephone and letters sent to them.. The average staff turnover is five years.

A further $20,000 was spent on ACCA training for the accounts department. Those employee studying for ACCA exams have a clause in their contract stating that they will not leave for five years after passing, or if they do, they will repay the training costs.

A further $50,000 was spent on quality control training for the production department. It is estimated that this will increase productivity and quality for the foreseeable future resulting in additional sales of $150,000 per annum with the gross margin increasing from 42% to 47%. The impact on net profit will be an increase of $10,000 per annum.

The remaining $35,000 was spent on training the sales force on how to economize on their expenses. Tips included staying in a guest house rather than a hotel, drinking cola not whisky and driving more slowly to save petrol. Savings are expected to be in the region of $7,500 per annum.

Software

An advanced piece of software was acquired on 17 January 2003 which ahs replaced existing software used in controlling a complicated piece of machinery for plastic extraction and costing. The software cost $60,000 and is not expected to be replaced by anything superior for four years. The residual value will be $0. The machinery it is to control was purchased seven years ago and had a total economic life of ten years. The net book value of the machinery at 1 January 2003 is $45,000 and it is being reduced to a residual value of $15,000.

Research and development

There are currently three projects ongoing within the research and development department.

(a)
The Toogle

$12,000 has been spent on research into a new plastic toy called the Toogle. It is hoped that when developed it will be the next big thing on every child’s Christmas list. As with all children’s toys it will be very inexpensive to make with very large profit margins. Expected cashflows are income of $100,000 per annum and expense of $20,000 per annum, if the research and development continues according to plan. Assume a discount rate of 6% per annum.

(b)
The Stalagmite

$15,000 has been spent on research during the year ended 31 December 2002, and $10,000 on research during the year ended 31 December 2003 into the Stalagmite project. This is a plastic model of a limestone tower, often found in underground caves. During the year to 31 December 2003 development costs were $22,575. The statue will be sold for people to put into their gardens. No more development costs will be needed as the product is at a production ready phase. A market research project was recently undertaken, the results of which indicated that very few people would want a stalagmite in their back garden. However, the company believed that this was an unrepresentative sample. It has not yet been decided what a suitable pricing strategy for the product is; it is likely that pricing will be very competitive to begin with, with a likely breakeven position. Once established, the company hopes to increase the selling price and hence profit.

(c)
The Dancer

The Dancer is a plastic model of a person that moves artistically when it senses music. Research costs were $25,000 in the year to December 2002/ Development costs in the year to 31 December 2002 were $40,000. These were not capitalized at the time. Development costs in the year to 31 December 2003 were $35,000. Song intends to start selling the Dancer during January 2004 as its development phase is now completed. A business plan and cash flow forecast were prepared in January 2002 and showed that the net profit from this product would be $20,000 per annum for the first five years at a production rate 100,000, after which, for the following five year’s production would be 60,000 per annum. Song believed they should capitalize $75,000 as the total development costs.

Required:
Provide written notes on accounting treatment for the year ended 31 December 2003 on each of the question (i) to (v) for the following:

(a)
Motor vehicle
(5 marks)

(b)
Training
(3 marks)

(c)
Software
(5 marks)

(d)
The Toogle
(3 marks)

(e)
The Stalagmite
(5 marks)

(f)
The Dancer
(4 marks)



(Total 25 marks)

13.
(a)
Z acquired the business and assets of Q, a sole trader, on 31 October 2002.

The fair value of the assets acquired from Q were:

	
	$000

	Non-current intangible assets
	

	Brand X – brand name
	220

	Non-current tangible assets
	

	Plant and equipment
	268

	Inventory
	5

	
	493

	
	

	Cash paid to Q
	523


Z spent the following amounts creating and promoting the Brand Z brand name:

Year to 31 October 2000
$100,000

Year to 31 October 2001
$90,000

Year to 31 October 2002
$80,000

Z’s accounting policy on recognised non-current intangible assets is that goodwill and brand names are amortised over 10 years.

On 31 October 2003, Z’s brand names were valued by an independent valuer as follows:

Brand X at $250,000

Brand Z at $300,000

The directors of Z have been very impressed with the increase in profits from Q’s former business. They are certain that the goodwill has increased since they acquired Q’s business. They are certain that the goodwill has increased since they acquired Q’s business. Z’s directors have estimated that the goodwill is worth $45,000 at 31 October 2003.

Required:
Explain how Z should treat:

(i)
the brand name;
(9 marks)

(ii)
goodwill;
(6 marks)

in its financial statements for the years ended 31 October 2002 and 2003. your explanation should include reference to relevant Accounting Standards.

(b)
Y provides packaging products to mail order and internet retailers. Y is the market leader in its sector and is trying to keep ahead of the competition by researching new packaging products. Y is about to launch a new type of packaging on to the market. The new product is expected to be commercially viable and Y has sufficient resources for the foreseeable future.

Y has developed this product from original started three years ago. The research and development had three phases:

· Phase 1 – July 2000 to May 2001 – pure research into possible new types of material. Carried out by a local university department at a cost of $75,000

· Phase 2 – June 2001 to April 2002 – consultancy fees incurred for the investigation of the commercial possibilities of the newly discovered material. Fees incurred $192,000.

· Phase 3 – June 2002 to May 2003 – costs of developing the product and preparing for product launch, $223,000.

The second phase, investigating the commercial possibilities of the newly discovered material, attracted a 50% government grant. All conditions attached to the grant were fully complied with during the year ended 30 May 2002.

Required:
Explain how Y should treat the research and development costs and government grant in its financial statements for the year ended 31 May 2001, 2002 and 2003. Your explanation should include reference to relevant Accounting Standards.


(10 marks)


(Total 25 marks)


(Adapted CIMA Paper 6b (INT) Financial Accounting November 2003 Q5)

14.
(a)
During the last decade it has not been unusual for the premium paid to acquire control of a business to be greater than the fair value of its tangible net assets. This increase in the relative statement of financial position proportions of intangible assets has made the accounting practices for them all the more important. During the same period many companies have spent a great deal of money internally developing new intangible assets such as software and brands. Hong Kong HKAS 38 ‘Intangible Assets’ was issued in August 2004 and prescribes the accounting treatment for intangible assets.
Required:
In accordance with HKAS 38, discuss whether intangible assets should be recognised, and if so how they should be initially recorded and subsequently amortised in the following circumstances:
· when they are purchased separately from other assets;

· when they are obtained as part of acquiring the whole of a business; and

· when they are developed internally.
(10 marks)

Note: your answer should consider goodwill in accordance with HKFRS 3 ‘Business Combinations’ separately from other intangibles.
(b)
Dexterity is a public listed company. It has been considering the accounting treatment of its intangible assets and has asked for your opinion on how the matters below should be treated in its financial statements for the year to 31 March 2004.
(i)
On 1 October 2003 Dexterity acquired Temerity, a small company that specialises in pharmaceutical drug research and development. The purchase consideration was by way of a share exchange and valued at $35 million. The fair value of Temerity’s net assets was $15 million (excluding any items referred to below). Temerity owns a patent for an established successful drug that has a remaining life of 8 years. A firm of specialist advisors, Leadbrand, has estimated the current value of this patent to be $10 million, however the company is awaiting the outcome of clinical trials where the drug has been tested to treat a different illness. If the trials are successful, the value of the drug is then estimated to be $15 million. Also included in the company’s statement of financial position is $2 million for medical research that has been conducted on behalf of a client.


(4 marks)

(ii)
Dexterity has developed and patented a new drug which has been approved for clinical use. The costs of developing the drug were $12 million. Based on early assessments of its sales success, Leadbrand have estimated its market value at $20 million.
(3 marks)

(iii)
Dexterity’s manufacturing facilities have recently received a favourable inspection by government medical scientists. As a result of this the company has been granted an exclusive five-year licence to manufacture and distribute a new vaccine. Although the licence had no direct cost to Dexterity, its directors feel its granting is a reflection of the company’s standing and have asked Leadbrand to value the licence. Accordingly they have placed a value of $10 million on it.
(3 marks)

(iv)
In the current accounting period, Dexterity has spent $3 million sending its staff on specialist training courses. Whilst these courses have been expensive, they have led to a marked improvement in production quality and staff now need less supervision. This in turn has led to an increase in revenue and cost reductions. The directors of Dexterity believe these benefits will continue for at least three years and wish to treat the training costs as an asset.
(2 marks)

(v)
In December 2003, Dexterity paid $5 million for a television advertising campaign for its products that will run for 6 months from 1 January 2004 to 30 June 2004. The directors believe that increased sales as a result of the publicity will continue for two years from the start of the advertisements.
(3 marks)

Required:
Explain how the directors of Dexterity should treat the above items in the financial statements for the year to 31 March 2004.
(15 marks as indicated)
Note: The values given by Leadbrand can be taken as being reliable measurements. You are not required to consider depreciation aspects.


(Total 25 marks)
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